IRt "7 '0I0 R,7° NAw .7"'02

— 991D PPRRY PYOIN PIDNT ANt
Sometimes when he eats impure foods, etc.

Overview
The X3 explains' the reason why 1w 9218 231871 becomes a *12 and is 710 01 if
he touches it. N800 differentiate between this 77°13 and another previous 7777,

- (0w 3,39 770 paa pareya) 1PVANT BYPN 992 N30 2NN DIDST DN 13939 N

The n''= says that 579377 9108, which is mentioned ‘everywhere’, as the mwn states -
- 28Ny NP HaNT INIDY DINA %Y 9IYIY 132NT NN NN DIDIY NINN NN

And half of a half (a quarter) of M7¥d *nw 1» (of eating 1PXNY 1°92X) is required
to disqualify the person from eating 7m0, which (7°xn °xm) is either the

equivalent of two eggs, and according to another who says an egg and a half;

this 737 9109, which is mentioned elsewhere -
- 9709 1929 199X *NINT NYV TP XINT 191 19950 INY

Is not this 179913 mentioned here of the 7127 1", for on account of the reason given
here, even if one ate "1 921X the size of an egg he is %192 and is 7170 01 by touching
it -

= 91299 MYLY BN 1919 ROY 19N ANPN NPINTP NN 1) DIV NON
But rather the 713 105 was a previous 77713, and they made this 77913 so that

people should not come to this following mistake and assume -

= PRNV DTN NN NN DIIND 9MNY 1D
That just as it is permitted to eat 72170 after cating 238»w 2%95IR; one is permitted
to do so, because eating 0°X1v 2°22% does not make a person n'";1 XY -

= PYNIAY PRNV PPDIIND NMIND WINY 29 DY 9N

Even though the 729710 is touching the PX»w 128 in his intestines, so therefore
they may mistakenly assume that it is -

- NINAM PRV PYINY 119N WANY 99 1o
Similarly permitted to have ;72770 touch R»v 19921 outside the body, which in fact

is not so, for even an *Iw 92X is 71170 9019 if it comes into contact with it -
= 127952 919ND1 YD) 199 NNY D9 I8N DINNV PPYIIN YIINAYT 191) 799

! See (also) TIE amwm 7"7 2,3 '01n footnote # 3.

2 a1 909 (literally the disqualification of the body) refers to the prohibition of certain 2171 from eating 77N,

? There is a dispute there in X,39 1217°¥ whether 7°X1 "X is two 0°X"2 (the views of *01 " 7717 ") or A¥nM 7¥°2 (the
view of 712172 12 131 ). A 079 is half of M7wo '2 1 and a 07 °¥n is what the 71W» means when it states 77> *Xm.

* See footnote # 1. The concern here is that the *3w 92% will touch the 7707 7Pw» in his mouth; if that happens the
1Pwn will become Rnv even if there is (only) a 129X 78°23 in his mouth; we do not require a 7¥1m 7¥22.. Food can
only be Xnvn if it is the size of a 71x"2.
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So therefore, in order to prevent this mistaken assumption, they decreed that one
who eats a 75 31 of PXR»Y 72X, that his body should be disqualified from

eating 1N afterwards’, until he is Y21, etc. -
- %91 XY ¥ 91 Yy Yax

However, they did not decree that he may not touch 7mnn, they only forbade eating
7170 in that original 7777 —

Mmoo explains why this N 11727p 77°12 was only for a ©79 "¢ but not for a 7%°23:
=YY YW DT 90NN DPYN PP INVIY “sy0nY X999 DY YN D9 I8N NPT

And the 77°12 was only for a o795 2n, since by eating a %535, the previously
mentioned mistake cannot be made, since some of the 2°8nv 2" that he ate
remains in his mouth between his teeth and it is lacking the M¥w of a 7¥°2>
before the PXnv 179X reach his intestines. This explains why there was no 771 by a
7¥°23, but why was there no 77°13, by slightly more than a 77¥°23. So M50 explains -
- 7999 YSNN IPIN “NYa9M YPANT 1199

That since the 717°1) is removed from a ;7%°33, they established it by a 99 >377 -

- 99197 XYL DIYN NYYAT GNY YINY GN TIDDIY 1911 NINT 19T YaN
However the 119°13 here was that they were =213 that the one who ate a 71%°25 of
TR1Y 192218 should be 195 even to touch 72170 (not only not to eat it) and the rule
is even if he ate only a 7712525 because of the reason given —

mooIN proves that the 77°13 of 7113 7109 is different from our 77°13 of the 127 n'™:
- (w1 3,097 NN D99 RNPAT ANYD NPT NPT Hy1n

You can know that 77°13 7109 was a n11n7p 57913, for in the last 2 of X%y noon -

5 There is therefore no more a situation where ™70 and RN PPN touch in the stomach, since they are not
permitted to be eaten one after the other.

% There was no need to be yan >"y 13, since the source of the mistake has been eliminated by prohibiting them to eat
71N after eating D°RPY PN,

7 19918 cannot be Xnun unless they are the size of a 7¥°2. The initial concern was that just like one is permitted to have
the 1°Xnv P79IX touch the 7m0 in his stomach, they may think that 1"Xnv 1221 may also touch the 72170 outside the
body. However if he ate 1Rnu 122X the size of a %2> then by the time it reaches his stomach there is less than a 71%*23
of food since some it remains 0w "3, Therefore people will understand that the reason he may eat a 7%°23 of P72
RV is because it will not be a 7¥°25 when the 72170 touches it it in his stomach; however they will not assume that one
may have 7Xnv 199X the size of a 7825 touch 7m0 for then it will certainly be Xnvn. We are not concerned that they
will allow PRnY 7P921R which are less than a 7¥°25 touch 72170, for indeed then it will not be Xnvn.

¥ There can be no 77°1 by a 7%°25 (as explained in footnote # 7).

A o9 x¥n is (presumably) the next (fixed) size larger than a 77¥°22.

' The reason given is that we are concerned that they will touch in his mouth, and in his mouth there will be an
79238 171¥°23. See ‘Thinking it over’ # 2 & 3.

1 oy mooin writes; ,079 %1 LIRW TV MNWY RAX TR PRY D% XPOKR A RYY RIIT 37T 107 013 097 whon KM
(X2°R7 7"7I0 X,7° @°M092) N5 N°¥1M2 ROK O°IMK 101 KD ROPIRTAT QW N°9°21° TARW DORNDY PRPwnA.
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= ROMNINT 7 DYDY 999 1T XPYD
The X7n3 initially assumed that 57993 299 is 7790577 32, but if we say that 7" 2109 is

identical with the 727 1" N1 of *3w 92X 9238717, how could they have assumed that -
919 900 19 PONT EROHNINT NINT 929 D3IV 1N PN DINOPA D919 1PN 93T N9

For all of the o°x711X were well versed with the 937 1''5, so how could they
mistakenly assume that it is 8n>>"R7, (and also) for then the 727 n"> will be
lacking; there will only be 927 1! This proves that 73 9109 is separate from 1w 9318 72877,

Summary
71 7109 is only for eating 70 and only if he ate a 079 *¥n7 of PRAY PR, while

MW DN DI is 200 even to touch 7m1n and even if he ate only a 192X 17¥°2
PRAY.

Thinking it over

1. It would seem that after there was the 77°13 of the 727 1" that 1w 9218 921877 is
7170 2019 (even) ¥ana, the 7713 of 079 "X NP°OX to be 7°°11 Y019 is obsolete (for it is
included and superseded by the new 77°13). Why therefore would >27 mention it in
the nrawn?*

2. What would be the ruling if he did not eat the 7% of *12 192X in one time but
rather ate it slowly 079 n%°2X °752 so he never had a 121X 7%°23 in his mouth at one
time?"

3. mooin is seemingly only explaining why here the 771 is even by a 7¥23,'
however why were they 7113 a 9109 even'’ by yan?'®

"2 S0 if 17 9109 is one of the 127 1> how could they even assume that it is Xn» X7,

" See 31m2w1n 2" that according to *¥71 7"7 2,5 X»1 ‘010 the X017 should be 121 700 2"X7 7w,

4 See w"wm.

" See oown 0T

' See footnote # 10.

7 Seemingly if they would be 73 that it cannot be eaten together (and not be ¥3» nXmIw 713, it will not come that he
would have X1 179318 and 7m0 PPWn in his mouth at the same time!

18 See 2pwY X3 772 M2 DMK 11,
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